Geometry Name Hour
9.2 Translations

2. STANDARDIZED TEST PRACTICE If AKLM with vertices K(5, —2), L(—3, —1),
and M(0, 5) is translated 4 units down and 3 units left to create AXYZ,
what are the coordinates of the vertices of AXYZ?
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1 7. AB with endpoints A(—3, 7) and B(—6, —6) translated 4 units to the
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9. AEFG with vertices E(0, —4), F(—4, —4), and G(0, 2) translated by 3
(xy—=x+2,y-1) 2
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In each figure, a||b. Determine whether the red figure is a translation
image of the blue figure. Write yes or no. Explain your answer.
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